TYPICAL

3 PLACES REFERENCE

DECALS—
SECTION 3

=
|
=

e
Al

Page 13-26



FORWARD AND REVERSE SWITCH, TOW SWITCH
POWERDRIVE PLUS VEHICLE

ITEM PART NO. DESCRIPTION QTY
1 2 3 4
1 1018560-01 SWITCH, FORWARD AND REVERSE ........ccoiiiiiii s 1
2 1018550-01 CASE, FORWARD AND REVERSE SWITCH ......ccooiiiiiii e 1
3 1018561-01 SCREW, HI-LO HEX HEAD, 1/4 - 15 X 1/2 ..o 3
4 0008248 SCREW, TRUSS PHILLIPS MACHINE, 1/4 - 20 X 3/4 ...oooiiiiiie e 2
5 1019225-01 BRACKET, TOW SWITCH ....coiiiiiiiii s 1
6 1019084-01 BOOT, TOW SWITCH ... e e 1
7 0000332 WASHER, FLAT, 1/4 .o e e s 2
8 0008233 NUT, NYLON LOCK, 1/4 = 20 ..ot 2
9 1019081-01 SWITCH, TOW .o e s s 1
10 0008990 TIE,WIRE . s A/R

Page 13-27



